
Inverse Operations

1. Complete the set of loop cards by identifying the missing number on each card and  

arranging them in the correct order, matching each calculation with its inverse. 

4,765 – _______________

= 2,827

_______________ + 2,851 

= 5,867 

8,991 + ______  

= 14,529

7,394 + ______ 

= 16,324

2,851 + ______________

= 4,281 

_____________ – 4,765 

= 2,720 

______________ + 1,938 

= 4,765

16,324 – _____________

= 8,930

5,867 – _______________

= 3,016

4,281 – _______________

= 1,430 

2,720 + ______________

= 7,485

6,552 + ______________

= 15,463

14,529 – _____________

= 5,618 

18,946 – _____________

= 11,552

7,394 + _______________

= 18,946

_______________ – 8,911 

= 6,552
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